oboooooooboooon

14 DOOOO

14.1 ODOO0OoOoOOO

0000000000000000000000000000000000000000000000000
02000000000002000000 200000000000000000

0003000000 w=(1,1),x=(3,3),y=(-1,1) 00000
20000000020000000000020000000000000000000000

>> w=[1 1];
>> x=[3 3];
>> y=[—1 11;
>> norm(w—y)

ans =

2

O00w=(1,1),x=(3,3),y=(-1,1)0000000000000O00O0OO00OOOOUOOOOOOOO
gboocoooboobooobooboooooon

OO00000o00ooOo0oDooO00boob0Udab0 bOOODO a-bO00O0D0OCO0OOODOOOOOODOO
goooogoo

>> dot (w, x)

ans =

>> wrx'

ans =

oboocooobooooboobobooooobobooooooboobooooobobo0ooobooboboooogon
oooooooboooboooobobooobobooooobooDbo

a-b=a’b (17)

oooo20000000006¢000000000DO0O0

cosf = (18)
cos 0O0000KAL<rpO00¢OO0OODOOODOOOOODOODODOOOOOODOOOODODOOODOO
0000 cosé OOOODOOOODOOO0ODOODOOODOOOODOOOO0ODDOOOOODOOOAODOD cosh O
goooog
booooOoboobooooobobooobooooooboobooboobooobooboooboobooooooon
goooooobooooooboobooooobooooboooooo40b0boboogoobooo

>> a=[1 5 —1 31;

>> b=[4 20 —4 12];

>> c=[-3 1 5 1];

>> plot(a); hold on; plot(b,'r'"); plot(c,'g")
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N

gbooooobobOoooobodvOOa0d 4000000000000000000O00DOOOO0OOODO
O0O0000000OcD ap 00000000 O0DOOOOO0OOOO0ODODODODOOOOOODODODn
goooogoo

oboo0o2000000000000000000O000O0O0DO0000000O0x,y 0 z;,y, 0000000
gboocoooboobooobooboooooon

22;1(5”1'*?)(%*?)
\/Zyzl(xifi)Q\/Z?ﬂ(%*y)Q
0000x,yOOUOO x,y0 (00O)OOUOOOOOOOOOOOOOOOOO (I)ooooooooooo
aooo

(19)

14.2 0OO0O0O00O0

googboooboobooboboobbooboobooboobuooboobooboooobobooobo
gooobooobooboooboobooboobooboobobobbooboobooboobooobon

cooooococMObOOoOOoOoOooOOOoOoOoDOOOoO0oOoOOO00bOOOoOoOoOoDOOO0OoOoOoOOoO0Ox0O M
(00O0)DyOOUOOODD (DO0)0DO00O0yOOODOOOD x(ODODDOOO)0ODO0OODOODDOOOODDOOOOO
goo

ob0oooOobOo0ooooobOo0ooon0ogn xcorr 0000

oboooo0Og 2: 00000000

>> y=[8 8 —3 4 —6 —101;
>> x=[8 —3 4 —6];

>> xc=xcorr (x,y)

Xc =

—80.0000 —18.0000 10.0000 0.0000 125.0000 4.0000 26.0000 —16.0000 —48.0000 0.0000
0.0000

>> plot (xc)

gboooboobD xb000 yO 20000 0000000000

U0 xcorr UO0OO0OO0O0O00DOOOO0OO0ODOO0ODOOO0DOODOOOOODOOOOOODOODOOOOOOOOO
helpODOOOOOOOODOOODOODOODOODOOOODOOOO oODOOODO

OO0000x0O [8-34-6]00([8-34-600]10000

gbooobOobooooooboooobooooboobooooboooobooon

88 -34-6-10
8§-34-600

(-lo00 80 0000UOOOOO0))0OOUOUOOOUODOOOUDDOOOUDD [-1010 [Bl1OOODO

>> dot ([—101, [8])

ans =

—80

OO0000Oxcorr(x,y) 0 1000000 -so0OdO0O0OOO
gbool1gobooboobooboob200b0o0oboobooboobobooboon

88 -34-6-10
8 -34-600

OO0O0OO0O0O0Odot([-6 -10],[8 -3]) = -18 0000
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oboooooooboooon

88 -34 -6 -10
8-34-600

obobooodonOOonOO
ooooooboOoboooooboooobOoboboobobooooboboboooDOobOob 28000xc(5)
000000000000 0000000000000 60000 100000000000 DOOOOO(O
0000000000000 00000000U0O00)0000y D 1000000 UOOOO xO0OOOOOOO
googood
gobobooobb0O0O0xzcorr 00000 DOOO0ODOOO0ODODOOODODOOODOOODDOOODN
gbooooooooon

15 0000
obbo0-00000000DO0000000000 TOOOOOOOOOoOoOoOooOoOoooo
)=zt +1T) (20)
00000oo0ooooNDOODOOoOobOoobooooooo
z[n] = z[n + N| (21)

gboooooocooobobooboobobooobooooooooboboooooboobobooobOobooon
obooooobooooog

goooooooooobooboboooooboboooobobDobDobboobobboooobDobooog
goooooooooobooog

oboooooboooooboboooooboboooogon

> y=[0220-20220 -=2];
>> yc=xcorr(y,y);
>> plot (yc)

obooooobooboooooooboooon

30

201

101

goooooobooboooooobooboooooobobooooooooboobooboDobDoboboooboooo
oobO0ooboooooobosboooboooobooobooboooooooOooosb000bb00obo0oOooonoo
oboocooobobooybOOoOOoOooobOOooo s00b00b00000b00bo0oooog

OO0OMATLAB 00 Oxcorr(y,y) O xcorr(y) 000000000000 DOOO0O0O0OOODOOOODBO
gooooooobooooooooboboboboboooboooboooDobooDobobobooogoDOooD o
000000000 10000000000 (00)0OoDoUooOoooUoooUooo
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00000000000000000000 (fo)D0000000000000000000000000a0Q
ooooto

gooooo 29 000000bo0booboooboo

>> [y, fs]=wavread('a—.wav');
>> plot (y)

>> a=y(2001:3024);

>> plot(a)

>> ac=xcorr(a);

>> plot (ac(1024—99:1024+99))

200000000000000DO000O000O00O0O0O0U0OO (300)040000000DO0OOOODOOOO

200 400 600 800 1000 1200

gobooobooobbgooobboobboobooobbooobboooboobbobbooboon
00000 (600)0000DO00O0OO0

0 50 100 150 200

obooooOobooocoboikyobooooobooboooooooblocoobooooboobboonosbonbon
ooooog

0000000000000 0000D000000000000
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16 UJUO0oobogoag

obooooobooobooobooooboooooooooooobooobobobooooobOobDobooDo
oboooooboosboooooboobooooboobooono
MATLABOOUOOOOOOOfor 0000000000000 00O00O0OOOODO

googoo 30 0o00boobogboo

>> x=(1:9) %2
x =

2 4 6 8 10 12 14 16 18
>> ind=[1 3 5 7; 2 4 6 8; 3 5 7 9]
ind =

1 3 5 7

2 4 6 8

3 5 7 9
>> x (ind)
ans =

2 6 10 14

4 8 12 16

>>

xO0O0OOO0O00OoooOoOoo0v0oob 3040000 ind00OO0O0D0OO0OO0150000000 indOOO0OO
o000 x00oboobo0obo0obo0obobb0ind0b0O0OD0O0O0ODO0DO0ind 0 OD0OODOOOO
googooo

000000000000ind 00000000000 300000000 (DUO00O)2000000000
ooo

U0 ind0000000O0repmat U0 OO0 O0OO0O0OO0O0OO0OOOO0OOOODOOO

>> W=3;
>> N=4;
>> SP=2;
>> repmat ((1:W)',1,N)+repmat ((0: (N—1))=*SP,W, 1)

ans =

[\
i
(&)}
oo}

repmat DO O0O00000000 helpOOOOOOOOOO
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Oo0o00oooooO0o0UooooooOoOoOU0Oo00ooooooooOOoCoOOOMATLABOODODOODO
(Doool-co0ool-[0bo00b000 M-0000]1000000D0000000 Oframeindex.m 0000
goooogoo

O0O0000 31: 00 frameindex

function findex = frameindex(framelength, noverlap, signallength)
$SFRAMEINDEX OO0 00D OODODDOOODODOOODDODOODDOOODOODOO
% FINDEX=FRAMEINDEX (FRAMELENGTH, NOVERLAP, SIGNALLENGTH) O
s 0000000000 FRAMELENGTH, 0O 0O 0O O NOVERLAP [
s 0o0oOo0o0boOooboOoboooboooooao
s UO0O0O0O0Db0d(0Db)0 SIGNALLENGTH OO DOOO
n=fix ((signallength—framelength)/noverlap);
findex=repmat ((l:framelength) ', 1,n)+repmat ((0: (n—1))*noverlap, framelength, 1) ;
end
00 frameindex 0000000000000 O00O0DOO0OODOOOODOOOOODOOO®O
gooogoo 2. 000o0booooooog
[y, fs]l=wavread('aiueo8.wav');
yframe=y (frameindex (256, 64, length(y)));
[f,nframe]=size (yframe);
for i=l:nframe,
xc=xcorr (yframe (:,1));
[pks, loc]=findpeaks (xc(257:end), 'minpeakheight',xc(256)%0.5);
if isempty(loc),
f0 (i) =nan;
else
[v,maxindex]=max (pks) ;
f0 (i)=loc (maxindex) ;
end
end
plot (£0);
isemptyO max 00000 helpO00000O0O0D0O00800U nan D000 0OOO0OOOOO 0/00 00—00
000000000000 0000000O00DO0DO0DO0000DO0000O0 NaNDOODODODOODODOoDOOoDOaoo
>> 0/0

ans =

NaN

JwaOlOOOOOOOOOODODODODOOOOOOO0OO0OO0OO0O0O0O0O0O0OO0ODUOOOOMATLABODODODODODOO
OO00oo0oDOobO0o0oO0o00oD00oo0O0 NaNOOOODOOODOoOoODODOOOoDOOOOooDbDDObOOoOooo
oooooooooooogoo

>> x=[5 nan];
>> x!

ans =

NaN

S00000000000000000D000000000000
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